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QUESTION 1

An organization requires double the processing capacity for a specific duration to handle increased workload. For the
remaining period, the organization might want to release the idle resources to save costs. The workload variations may
be

seasonal or transient.

Which cloud characteristics enables the consumer to handle such variations in workloads and IT resource
requirements?

A. Rapid elasticity

B. Resource pooling

C. Measured service

D. On-demand self-service

Correct Answer: A

QUESTION 2

A service is offered to consumers from 9 A.M. to 5 P.M., Monday through Friday. The service experiences downtime
from 3 P.M. to 5 P.M. on Wednesday of a given week.

What is the service availability for that week?
A. 95.00%
B. 95.88%
C. 96.42%
D. 98.33%

Correct Answer: A

QUESTION 3

What is a benefit of the active-active cluster implementation?

A. Enhances performance and availability of a service

B. Lower total cost of ownership for providing services

C. Improves security of application running on the cluster

D. Ability to run multiple services on one physical compute system

Correct Answer: A
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QUESTION 4

Consumer organization
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Configuration policy
Condition 1: Update to latest OS version

Condition 2: Apply all OS patches

Refer to the exhibit, which represents a consumer environment consisting of multiple VMs running Windows operating
systems (OSs).

For compliance reasons, the cloud service provider maintains version control over the OS provided to the consumer.
The service provider also ensures that the configurations of the VMs comply with the configuration policy for the OS
version. The configuration policy includes the two conditions shown in the exhibit. A monitoring tool verifies VM
configurations against the configuration policy and provides the compliance results shown.

What is the percentage of compliance non-adherence?

A. 30.12%

B. 33.34%

C. 58.33%

D. 66.67%

Correct Answer: D
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QUESTION 5

What is a key benefit of using containers?

A. Eliminates any long-term commitments to a technology stack

B. Helps speed up software release cycles and improve software quality
C. Enables services to be delivered in hour or days, not weeks

D. Provides better probability without requiring code changes

Correct Answer: B

Latest DEA-2TT3 Dumps DEA-2TT3 VCE Dumps DEA-2TT3 Exam Questions

Latest DEA-2TT3 Dumps | DEA-2TT3 VCE Dumps | DEA-2TT3 Exam Questions 4/4


https://www.passapply.com/dea-2tt3.html
https://www.passapply.com/dea-2tt3.html
https://www.passapply.com/dea-2tt3.html
http://www.tcpdf.org
https://www.passapply.com/dea-2tt3.html
https://www.passapply.com/dea-2tt3.html
https://www.passapply.com/dea-2tt3.html

